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<?xml wversion="1.0" encoding="UIF-8"7>
<ProcessBesult zmlnz="urn:GEINV:ProcessREesult:3.0" xmlns:xsi="http://www.w3.o0rg/2001/¥MLEchema—instance” xsi:schemalocat:
<RoutingInfox
<From>
<PartyId>X¥XEx¥</PartyId>
</From>
<FromVAC>
<RoutingTd>¥¥YYYY</RoutingIds>
< /FromVAC:»
<To>
<PartyId>00000000</ParcyIdy
</To>
<ToVAC>
<RoutingIld>0<,/Routingld>
</TaVAC>
</RoutingInfo>
<Me=z=sageInfo>
<Id»>v31-C0701-20160513-083000383-665408cc-13f5-417c-bdad-d81lc0ds450eT<,/Id>
<58ize»3T766</Size>
“MessageType>»C0T701</ MessageTyper
“Services>S</Servicer
<Actiun>BEC<fﬁctinnH
< /MessageInfor
<Result>
<Info>
<Code>E0202</Code>
<DescriptionyNo. 1 Invoice Validate Fail. EEIr8ZE &SR ; Date not same [ori=Sat Apr 02 00:00:00 C5T 2016]: [
<Parameter0>G3T42230636<,/Parameterd:>
<Parameterl»>20160512«/Parameterls>
<Parameter2>NULL</Parameteri>
<Parameter3i>NULL</FParameteris
<Parameter4>NULL</Farameterd>
< /Info>
< /Result>
</ProcessResult>
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<?xml version="1.0" encoding="UTF-8"?>
- <SummaryResult xsi:schemalocation="urn:GEINV:SummaryResult:3.0 SummaryResult.xsd"
xmlns:xsi=”http://www.w3.urg/2001/XMLSchema-instance" xmlns="urn:GEINV:SummaryResult:3.0">

- <Routinglnfo>
+ <From>
+ <FromVAC> -
+<To> RoutinglInfo
+<ToVAC>
</RoutingInfo>

- <Detalss

+ <Message>

+ <Message>

+ <Message>

+ <Message>

+ <Message> - -

+ <Message> Detal I L I St
+ <Message>

+ <Message>

+ <Message>

+ <Message>

</DetailList>

<JSummaryResult>
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- <RoutingInfo>
- <From>
<Partyld>00007102</Partyld>
</From>
- <FromVAC>
<Routingld>PS000002</Routingld>
</FromVAC>
- <To>
<Partyld>00000000</Partyld>

<Routingld>0</Routingld>
</ToVAC>
</RoutingInfo>

Routinglnfo
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- <DetailList>
- -::Message.‘:- S

- Info>
<Id>v31-C0401-20150326-092307063-45971eb9-8c22-43e0-8f0f-89c266d2d377 </Id>
<Size>100</Size>
<MessageType>C0401 </MessageType>>
<Service>8</Service>
<Action>B2C</Action>
</Info> I n fO
—TRESITYPES
+ <Total> N
+ -q’_: GDDd :-:" - z;)r(cr:rc“e:selgzsoji xlsi?scﬁgﬁ:):ir;%:tiglrj"ir?niGEINV:ProcessResult:3.0 ProcessResultfisd” xmlins:xsi="http://www.w3.org/2001/XMLSchema-instance"
+ {: Fai Ied :} xnjlrzs[{:c;'llj_ltli‘:;fn%l:v:PmcessResuIt:S.O")
*:fRESUltT‘ﬂ]E‘.} 7 :;Eaityld>00007102</Pmy1d> .
{IMEESEQE‘.} ) ::;in;\;\?fggld>Psoooouz<mouting1d>
+ { Message ::- ) <T02Partyld>00000000</Par‘cy1d>
+ <Message> e
_l_ {MESSEQE} <IT:VI‘1:(§J;mgld>0</RnutmgId>

+ <Message>
+ <Message>
+ <Message>
+ <Message>
+ <Message>
+ <Message>
</DetaillList>

<MessageType>C0401</MessageType>
<Service>$</Service>
<Action>B2C</Action>
</Messagelnfo>
- <Result>
- <Info=
<Code>00000</Code>
<Description > £ ¥R 2= B fith < /Description >
<Parameter0>1</ParameterQ>
</Info>
</Result>
</ProcessResult>

<Messagelnfo=
<Id>y31-C0401-20150326-092307063-45971eb9-Bc22-43e0-Bf0f-B9c266d2d377</I1d>

ProcessResult

O
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- <ResultType>
- <joa
- <ResultDetailType>

<Count>1</Count>
- <Invoices>
- <Invoice>
<ReferenceNumber>TA00007712</ReferenceNumber>
<InvoiceDate>20150326</InvoiceDate>
</Invoice>
</Invoices>

</ResultDetailType> TOta I
<Total>
- <Good>
- <ResultDetailType>

<Count>0</Count>

</ResultDetailType>
%

- <Failed>
- <ResultDetailType>
<Count>1</Count>
- <Invoices>
- <Invoice>
<ReferenceNumber>TA00007712</ReferenceNumber>
<InvoiceDate>20150326</InvoiceDate >
</Invoice>
</Invoices> )
</ResultDetailType> d
</Failed> Fal Ie
</ResultType> 10




